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A powerpoint to explain Life Expectancy.

Level: Secondary school.
Subjects: History, geography & social studies.
What you need: A computer, a screen and a projector.

The two key messages are: (1) Life expectancy is a mean and
(2) When life expectancy is low, this is mostly due to a very
high child mortality.

To illustrate these points we compare the expected life spans
of 5 newborns in Burundi with those of 5 newborns in
Sweden.

Instructions and background information can be found at:
www.gapmindet.org/downloads/life-expectancy-ppt

License
You are free to use and re-distribute this material for non-commercial purposes under a creative commons
licence. We ask you to credit as the source: www.gapminder.org

Produced by
Mattias Lindgren, the Gapminder Foundation. Version: 2010-09-07

Photo credits

Models are used for the portraits, with the permission of the models / guardians of the models. The life
spans in the examples are based on mortality statistics and do not represent the life spans of the individual
models. Their names are made up for illustration only.

The 10 Swedish portraits are by Mathias Grate. The 9 Burundian portraits ate by Sylvain Liechti. The
Burundian landscape are from Xavier Damman (cc) http://tinv.cc/yev7i , the Swedish landscape are from
finbar_mad (cc) http://tinv.cc/urih8 . The Africa map are Wikimedia commons http://tinv.cc/kcihm . The
hour glass picture is from an unknown source. Please let us know if you have taken that picture and want to
be credited, or if we have infringed on any copyright.
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Can you get
old in Burundi?
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Calculate the mean...
1+36+57+72+84

=50
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Do all Swedes
I|ve 31 years longer
~than the Burundlans?
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“To live long” in Sweden

is almost the SAME as

“to live long” in Burundi \“ ‘ 3
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all Burundians do not live 31

years shorter than Swedes




"Life expectancy

... IS an average
-Most Burundians get older than 50

-Some die in childhood

... iIs low when child-
deaths are common

-It is low in Burundi
not because all die a bit earlier

-But because
some die much younger




